EXAM 3 Name M

Math 2924 <J
4-24-15

Instructions Work all of the following problems in the space provided. If there is not enough room, you may
write on the back sides of the pages. Give thorough explanations to receive full credit.

1. (10 points) Find the sum of the infinite geometric series
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2. (15 points) Decide, giving a valid reason, whether the series
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converges. (Hint: use the limit comparison test.)
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3. (20 points) Determine whether the series Z is absolutely convergent, conditionally convergent, or
n=2

divergent. Give reasons for your answer.
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4. (10 points) Using the formula for the sum of a geometric series, write down a power series expansion for

the function For which values of « does the series converge?
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5. (80 points) For the power series
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L \2¥ b. Check each of the endpoints of the interval of convergence to see whether the series converges there.
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c. What is the interval of convergence?
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6. (15 points) Find the Taylor series for f(z) = sinz centered at the value a = m. Write out the first few

terms of the series. | - @
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